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Q1: which of the following sentences are true or false, please transfer your answer to the
answer sheet: (20 points) -

3

Product differentiation ¢l 2208l is common &3 in a market characterized by monopolistic
competition. |

o \) N e
Stock markets (33! Ll do not participate in social responsibility because their operations do
not cause any social nor any environmental damage. X "

v/
The government can influence iy the availability of capital (money supply) by working through
the central bank (s JSoall il J —

3

WAL it e R

4. Stabilization policy is madé up of both monetary and fiscal policies. 4"

T, <)
elecommu }wation industry practlces 2 (fnonopohsuc/ competition, whereas eat indus
practices 4 perfect completion N

S

6. It is well known for individuals who are starting a new business is NOT to rely on'their personal

.

TESOUICes, X

7. The Palestinian National Authority manages the collection a3 and spending of its revenues only

through monetary policy. \
TE—

8. Aggregate output refers fo a company s annual production of goods or services. Y <

—

o

9. Big businesses and public institutions =l cluw 34l ave the best opportunities for minorit's. K

10. The point at which the supply curve and the demand curve intersect (l=bl® is the equilibrium

price. |~

11. By law, each partner is liable WLisl8 Jshue for all debts incurred in the namé of thig general

parmershig, [

12 Fraﬂchlsmg is one of the most popular way in startmg a small business. y

/‘\,u'\(

13. If productivity increases, Quahty, quanuty and prlces offered to customers will be fair enough to

satis{y their different needs. ]//

14. The term of green products refers to the fact of producing products with the colors of rainbow’s

eRwsold X

'l

i
O . e :
15/ The pfé@_é__s@gga to social responsibihtyat profits should NOT be spent on social

programs. % X

16. Some actions may be illeg 971 yet they considered =3 i gl il uﬂerhacal b4



17. Many new businesses have started by people who have left big corporations. e

. . PL- ;
18. Inflation results Il 523 in increased purchasing powé%;ifor the consumers. 7&
SIS PORstiel v belis

Ui

19, Low start-up costs and tax benefits are advantages of scle proprietorships. g

20. Physical resources include the data and other information used by businesses. X

Q2: Choose the suitable answer for the following sentences, and transfer your answer to the answer

sheet (20 points)
1>,

1, A e occurs when the quantity of goods demanded exceeds sl the quantity of goods supplied

A) market price

B) margin rate
@Sheﬁage

D) Surplus

E) none

2. In Ramallah, the number of car washes <l ol Just <illess hag grown from two to five in th
~ years. R
Which result will likely_fécc'ur'?? /
The increase in supply will have no effect on the equilibrium price. A
) The increase in supply will lead to a decrease in demand.
C) The increase in supply will lead to a decrease in the equilibrivm price.
D) The increase in supply will lead to an increase in demand. '

JjThe increase in supply will lead to an increase in equilibrium price. =

) .
3. One Nestle bottled mineral water f@n Switzerland and 3 NIS (0.82 §) in Palestine, this is a
reflection of: 3

A) Deflation rate
q@ Purchasing power parity
C) Productivity
D) National debt
E) All above .
s ' 2
: &Tha socioeconomic view is that mangéér\nent'é social responsibility goes beyond i< making profits to
include . pgher o k
A) protecting and improving society's(welfare )
B) improving relationship with policy makers
C) minimizing the welfare of society in exchange for profits
D) protecting and improving the organization's profits

all above



C"\/‘J -\,I:‘; !
/ The belief ol &Yl that businesses that help solve difficult social problems create a desirable

rommumty 4 58 e pafae and attract and keep skilled empioyees is based on the approach that
businesses are:

A} econornic entities
B) social entities
C) legal entities

D) a+c

@m

6. Individuals and groups that chrectlx aﬁected by the organizational actions are:
A) Consumers

B) Stockholders -

C) Employees

D) Competitors
EY All above
S
/@ A new French company plans to introduce an inexpensive L, high-quality line of shoes to the

Egyptian market. It has found an Egyptian manufacturer that can help the French company to produce the
shoes at a low enough cost that they will still be cheaper than other brands of the same quality.

Which of the following represents a potentia
consider before beginning production in Egypt?
4) the average exchange rate of the Egyptian 's currency over a ten-year period
@; he Egyptian’s existing labor laws Je=ll (pibs and the factory working conditions
C) the challenges of doing business in Egypt with a nonconvertible currency g ile
D) the energy démands of the manufacturer's facility
E) the basic international business strategy it will use '
4,7Y B
8. The surplus area in respect to demand and supply occurs when
A) quantity demanded exceeds the quanti lied

ical/implication that ﬂgw should

@b-e-c . - | Cr celo

/‘Qt‘;’ e U"“Qi\ﬁc‘,{ Ao
9. Which of the following is one of the eléments required in pw o P
A) adequate representation in the government 4aSadl & va Jidi oy S
freedom from foreign competition
@m right to ownership of property &Sl A (3=
D) the opportunity for market leadership Gl e 3 pkapall 553l s 8
E) numerous regulatory agencies dsalaiill YIS gl o paall 343 T @
<
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10. A financial analyst s dlss has noticed a serious rise £ s~ls £ ) int inflation. What course of action

might the financial analyst advise g=i the government to take in order to reduce mﬂatxon’f
The government can lower taxes. .-

B) Eneouraae the government to increase spending,
C) The government can raise taxes.

D} Encourage consumess o increase spending.

E) Encourage the private sector to increase prices,
A

i

s
11 /Advemsmg for which of the following products is most likely to have efthrc?l‘an@ effects?
(BPalcohol
B) spoiting equipment &4 -
C) caffeinated beverages ¢S Ao (g giad Al iy y il
D) swimwear ,
E) c+d h ;
§be
12. If a firm admits responsibility il s < 433 for wroncdomg and mistakes, what type of stance are
they taking toward social responsibility? .
A) rioderate
B) obstructionist
C) accommodative
D) proactive
/@)ﬂeﬁmsive
s _
13. Coca Cola meets and exceeds Gl its legal and ethical requirements. In addition, it donates g
$50,000 per year to local charities &las & 3% lnes when asked. Which of the following approaches is
being taken by Coca Cola toward social responsibility?
A) obstructionist A
B) reactive
C) defensive
roactive

iy accommodative

14, Which of the following would NOT be included among the ficlds of interest in respect to a company's
cthical behavior? '

ournalists

B) unions

C) stockholders

D) customers

E) competitors

15. What is it called when two or more firms agree to collaborate on wrorijgjs FURER ub)mﬂ :
collusion sl gl
) consumerism
C) brokering b el
D) monopolizing
E) bankruptcy »8Y!
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Which of the following has NOT been identified (oo ¢ <o a5 2 ba;%c/o;sumer rlght?
right to safe products
Bya Iight to be heard

m what they buy

E) a right to be informed about a product
g J )
17,/In which business sector are w&wes still important?
manufacturing

B) education
£.0) agrioulturs~
{@Fpublic utilities

E) health care

/- 18. Entrepreneurs often have more than one goal for starting a new business and becoming self-employed.
Which of the following reasons is the LEAST common goal of entrepreneﬁ,urs'?
o seek independence and be their own boss

B) to earn a comfortable living for a period of time
() to meet community or Social obligations <l 3l
D) to grow and expand a current business
E) to political relations with the government

—_—
19. McDonald's, Pizza Hut, KFC and Starbucks examples of?
A) government entities
anchises

C) university sponsored businesses 7
D) networking businesses
E) cooperatives ;.

20. Which of the following factors most contributes | sebu to small business fafll_ure‘;’/’

A) bad product design S e
@nanagerial incompetence or inexperience S L

C) legal problems g

D) time spent for raising capital Contdl  bomfe o

E) personnel issues dleall oo JSliia

=]
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>/ .f “"2- Tn the following statements, fill in the blanks with the right term by choosing fmm the ones

mentioned below (7 points) _ }L ‘Pf %

= '&!’-‘E’}\ (J__Q‘JC? UJ'F TV f..x?;i" -@))'LS c‘\—"i‘a‘" " ‘Ablzlu-b)
A2 “Consume ST, surp,hﬁ: deficit, Unmns, Social audit, Unhmited xty, @duc v

Real GDP, WW,
O,.»-R)A\

P

\/ 1. A small business that buys goods from other ﬁrms/ and sells them to consumers is known as a
' ~ b - U ~d ' = " .

v C—)’)
(/ 2. e i is an employee’s disclosure to the media or government authorities of
illegal, unethical, or harmful practices by the company.

3. Aln) boce L‘.LQ Al af i Y is a systematic evaluation and reporting of the company’s
social performance. ‘ _ 2

/ Lok 1L

(/ 4. _Cansiumefiswmn is a movement that put pressure on businesses to considex clients

needs and interests.

'L/ 5. Which of the followmg is not an advantage of Eartncrsmps? L LL. Y % bl alb j.\’\ b

,;)L-D sV — 9

6. Usually the German exports é}jiéj;::ls its imports, this fact causes Siad”. %:_)_ s in

the Germany'’s trade balance, and makes the German economy a __ [ §» ~la ck wconomy.

Cood luck



